N of reco track vs dxy

10°

10*

10°

10?

10

P T T TTI[—TTTTIN T TTTI T TTT—TTTTI—TT

[

[N of associated (recoToSim) tracks vs dxy

-

N of associated (recoToSim) looper tracks vs dxy

Ly

0.!

=25-20-15-10-5 0 5 10 15 20 2

N of reco track vs dz

10°

10*

10°

10?

0.

[N of associated (recoToSim) tracks vs dz_]

-25-20-15-10-5 0 5 10 15 20 2

0.!

—25-20-15-10

5 10 15 20 25

10°

10

o

109

0.!

=30

-20

0.

=25-20-15-10-5 O

5 10 15 20 25

[[Nofas

sociated (recoToSim) looper tracks vs dz |




	Contents
	Page 1


